16 13 -11
-5 -10 -18
7 2 1

B.3x5

D.5x4

C = 12 6
-8 24
2 -5
—
—
E= |3+ 5 -8 F=|-4
-1 9 6 10
7 -1 4 3
-
Evaluate (if possible):
1) 3C +2DT 2) El
3) FXD 4) ExCT
5) Find the determinant of E.
e oo - ® o ® o e o - = -
-13 =20 -17
-21 5 -8
. Identify a5 inL 10 20 21
6 A. 31
' C. 10
19
-9
7_ . What are the dimensions of L14
A.5x3
C.4x5
2 3
X = i
8. 4 7
Find the inverse of matrix X.

Ex) A=]3 1 and B= |2 -
5 2 -5 3

Is B the inverse of matrix A?

20
15
17}



—

Solve for x and/or y:

(l” 5 6 0 1 125 -13
0o -7 1 -2 -23 135

-3 5 0o -2 -3 11
-3 = -5 8 x |+4 2 3 1=2 -16 100

25 -2 x 4 15 -14
1 -6 4 11 y 37
7 8 -5 3 -275 -14

2 —1 O] 5]

1 4 2|x=|15
@ 3 —2 1 |-7

A {—42 )lc ﬂ > 1 {—11/3 _84}




